



Nome: _____

Data: _____ Punteggio: _____

$$\left(\left(\frac{1}{2}\right)^2 - \frac{1}{2}\right) \times \frac{1}{5} - \left(\frac{3}{2} + \frac{1}{2}\right)^2 =$$

$$\left(\frac{1}{5} + \left(\frac{1}{2}\right)^2\right) \times \frac{2}{3} - \left(\frac{1}{2} - \frac{2}{3}\right)^2 =$$

$$\left(3 + \frac{1}{5}\right)^2 + \frac{1}{4} + 5^2 \times \frac{2}{3} =$$

$$\left(\frac{2}{5} + \frac{1}{6}\right)^2 + \frac{1}{6}\left(\frac{1}{2} + \left(\frac{1}{2}\right)^2\right) =$$

$$\left(\frac{1}{2} + \frac{1}{4}\right)^2 - \frac{1}{2}\left(\frac{1}{5} + \left(\frac{1}{2}\right)^2\right) =$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{1}{6}\right) \times \frac{1}{2} - \left(\frac{1}{5} - \frac{1}{6}\right)^2 =$$

$$\left(2 - \frac{1}{2}\right)^2 + \frac{1}{2} \times \frac{1}{6} - 3^2 =$$

$$\left(\frac{1}{6} - \left(\frac{3}{4}\right)^2\right) \times \frac{2}{3} + \left(\frac{1}{2} + \frac{2}{3}\right)^2 =$$

$$\left(2 + \frac{3}{5}\right)^2 - \frac{3}{5} + \frac{3}{4} - 2^2 =$$

$$\left(\frac{3}{5} + \frac{1}{3}\right)^2 - \frac{1}{2}\left(\frac{3}{2} - \frac{2}{3}\right) =$$



Nome: _____

Data: _____ Punteggio: _____

$$\left(\left(\frac{1}{2}\right)^2 - \frac{1}{2}\right) \times \frac{1}{5} - \left(\frac{3}{2} + \frac{1}{2}\right)^2 = \left(-\frac{81}{20}\right) = \left(-4\frac{1}{20}\right)$$

$$\left(\frac{1}{5} + \left(\frac{1}{2}\right)^2\right) \times \frac{2}{3} - \left(\frac{1}{2} - \frac{2}{3}\right)^2 = \frac{49}{180}$$

$$\left(3 + \frac{1}{5}\right)^2 + \frac{1}{4} + 5^2 \times \frac{2}{3} = \frac{8147}{300} = 27\frac{47}{300}$$

$$\left(\frac{2}{5} + \frac{1}{6}\right)^2 + \frac{1}{6}\left(\frac{1}{2} + \left(\frac{1}{2}\right)^2\right) = \frac{803}{1800}$$

$$\left(\frac{1}{2} + \frac{1}{4}\right)^2 - \frac{1}{2}\left(\frac{1}{5} + \left(\frac{1}{2}\right)^2\right) = \frac{27}{80}$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{1}{6}\right) \times \frac{1}{2} - \left(\frac{1}{5} - \frac{1}{6}\right)^2 = \frac{73}{1800}$$

$$\left(2 - \frac{1}{2}\right)^2 + \frac{1}{2} \times \frac{1}{6} - 3^2 = \left(-\frac{20}{3}\right) = \left(-6\frac{2}{3}\right)$$

$$\left(\frac{1}{6} - \left(\frac{3}{4}\right)^2\right) \times \frac{2}{3} + \left(\frac{1}{2} + \frac{2}{3}\right)^2 = \frac{79}{72} = 1\frac{7}{72}$$

$$\left(2 + \frac{3}{5}\right)^2 - \frac{3}{5} + \frac{3}{4} - 2^2 = \frac{291}{100} = 2\frac{91}{100}$$

$$\left(\frac{3}{5} + \frac{1}{3}\right)^2 - \frac{1}{2}\left(\frac{3}{2} - \frac{2}{3}\right) = \frac{409}{900}$$